EARAROBEEIERT — 2 N— IBISH —F

2016558120 (k) 2EIFI5I4H

Gl 3l EC4—2 C4 45%—H% ‘ (%] % ‘ (Emm]  — | & () 16000 RE
[A&4£] 17 :200,000 ™ ~ 23%&:40,000”  33:30,000” . 437&:20,000MH .~ 57 :10,000
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o B3 | BT 1:42.4 1-1-1-1 | 39.8| — 4 440 | /NETETT (AbiEE)
1155 H>oO—X 54.0 (=) 0 R .
R:74—=FT4FA4F—XH¥> B:¥—-~"F20-X Lt e
g # o4 | AlE 1:42.4 7-7-6-6 | 38.9| — 1 494 | KINF (i)
207|7 | 7RTAYHYTER 56.0 (7€) o | @ XS
XL THANAN BTITHLE—2Z BEK#ERS
- C— . A+ R : -3-3- — NEEN (AtimE)
slglo| 51 —535> it 4 i 1.(412>.6 1-3-3-3 | 39.8 2 (42:3) irdss BiE
AR NI =T BXAHIFTIT BHHE
53 # 4 | BREF 1:42.8 1-1-1-1 | 40.2| — 3 482 | HRIEZ (dt7mE)
4B 3| A—Y—F—7X 54.0 " (c1) | Fi .
R:F1528) B R¥I5 HBITr—L
5L # o7 | FLEE 1:42.9 4-4-4-4 |39.8| — | 6 | 566 |HNEHFE (i)
5 8 56.0 (1/2) (-6) WNEEE=Z
2P gHerF— BYRN=2y K Etie]
= o5 | AHIEE 1:43.0 5-4-5-4 |39.7| — 5 462 | EBIEBFORI (dbiEE)
N c INRERAE YA 56.0 (1/2) (-6) | EEKE a
/K Rylv— B4 —0Ov> TIGLR=ZAA b
: B4 | BRI 1:43.4 8-8-8-8 |39.1| — 7 478 | KAt (dtimE)
7B 0| X7 —ANLZ 54.0 (2 o) | A *LE?JSW*%L
RIINATA—H— B L—XFTZXE-X TEARYS
S ; s 4 5 | |TEHH 1:44.3 5-6-7-7 | 40.6 | — 8 478 | Kllfate (dtimE)
gl 4| I2tERAT—> 56.0 @) t6) |ME3AT -
RN—V754 B:R—ZCFXb—L Pell:tie]
j ) :46. -9-9- 8] - BUNT ()
9l1]1|BE—L2TUZR 4 5 oS 1(496)2 8-9-9-9 |41.8 8 :1_820) %#Aﬁﬁ 2!
R:ZY—O—LZ B:TUZXrYaY MEE RS
® I—F—@EBIERL
|S=7r= (3,5,9),8,(4,6),7,(1,2)
20—4— (3,5),9,(6,8) ,4,7,2,1
G=7"= (3,5),9,8,6,7,4,2,1
41—F— (3,5),9,(6,8),7,4,2,1
[ RN
B 5 600F 794K 5-7 160M & 5-7 460M &R 5-7-9 430M
# B ) 1204 59 220 B E &=/ 530 EE 5-7-9 4,190
7 1004 7-9 140H B H 5-7 1,260/
9 1209

ABICOVWTRDTEEERROODE. TR LIV,




